Standard ASSE.2	8.4 Multiplying Special Cases	Unit 7 
SWBAT expand polynomials in vertex form and simplify them into standard form.

Expanding Monomials
Expand (do not simplify) each of the following:
a) 
b) (2xy)2
c) (5xyz)3
d) (4x)4





The Square of a Binomial:  Do NOT distribute an exponent to a binomial!
Expand, then FOIL or Box the following.
a) 
b) (a – b)2 = 
c) (a + b)2 = 










Expand, and then simplify the following:
a) 
b) (3x + 4y)2 = 
c) (x – 3)2 = 











Got it?  What is the simpler form of each product?
a) 
b) (2x + 9)2
c) (n – 4m)2









Expanding a Binomial in Vertex Form
What is a simpler form of each product?
a) 
b) 2(x – 6)2 
c) 3(x + 2)2 
d) 4(x – 1)2 











What is a simpler form of each product?
a) 
b) 3(x + 1)2 + 1
c) 2(x – 4)2 – 5
d) -4(x – 2)2 + 6













Finding Area of Shaded Regions
 (
Area 
shaded
 = Area 
Big
 – Area 
Little
)




Find the area of the shaded region below.  Show all work.
[image: http://www.ontrack-media.net/algebra1/a1m3l7image38.jpg]





Find the area of the shaded region below.  Show all work!

[image: http://alg1.fpmath.com/0130378925/Ch09/09-03/images/Ch9_Sec03_im004.gif]
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